
No. Item Description Q'ty

1 M4 Nut (Fixed into LNB holder) 1

2 LNB Holder 1

3 M4 x 40  Cross Head Screw 1

4 M8 x15 Carriage Bolt 4

5 M6 Flange Nut 2

6 M6 x60 Screw 2

7 M8 Washer 2

8 M8 Flange Nut 10

9 M8 x70 Carriage Bolt 2

10 M8 U-bolt 2

11 Elevation Bracket 1

12 Reflector Bracket 1

13 Reflector 1

14 LNB Arm 1

15 Clamps 2

80 CM KU DISH ANTENNA INSTALLATION GUIDE

INVERTO PRO 65/80/90CM SATELLITE DISH ANTENNA 
INSTALLATION GUIDE

6506/6507/6528 IG
-ID

LP-STC
F60-K

U
LG

O
-LY

U
(V

210425)

6506,6507,6528 IG-IDLP-STCF60-KULGO-LYU(V210425).indd   16506,6507,6528 IG-IDLP-STCF60-KULGO-LYU(V210425).indd   1 28/04/2025   17:34:4428/04/2025   17:34:44


